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BIHE 1

HERWIME (B G5 ah) W H Bk
FEhr— V27— (=FA F7 1)
IF AR —1 1(CW-01) 1, 851 2, 850 11.0
I (CW-02) 1,829 2, 850 7.0
1, 730 2, 850 1.0
1,756 2, 850 15. 0
FAERRE - =T L=E 1 - 2(AF-06) 1, 200 1, 950 3.0
2F  FAR— L 2(CW-05) 1, 065 1, 050 2.0
2,193 1, 050 4.0
3F  BrAEmFSE=E (CW-06) 1, 065 1, 050 1.0
2,526 1, 050 3.0
1, 030 1, 050 1.0
FEha a7 o744 F (=F,f =3 %F7 25)
IF =S (AW-01) 1, 065 1, 950 2.0
1,832 1, 950 1.0
=75 = (AW-05) 1, 000 1, 850 1.0
FER 2 (AW-04) 1, 200 1, 950 1.0
wAEY) Pl g = - fthEE (AW-03) 1, 500 1, 950 4.0
AR A VRS - filiEE (AW-02) 1, 500 1,950 2.0
2F N7 7 M= - BAMTLERE (CW-03) 2,879 1, 050 2.0
1,075 1, 050 1.0
2,006 1, 350 2.0
688 1, 350 1.0
1, 065 1, 350 1.0
1,311 1, 350 1.0
HEFFEE 1~10 (CW-05) 1, 068 1, 350 1.0
2, 704 1, 350 1.0
2,779 1, 350 1.0
1, 030 1, 350 1.0
1, 065 1, 350 1.0
2, 482 1, 350 1.0
1, 065 1, 350 7.0
2,485 1, 350 7.0
3F  JFEHGEANYES - ZB= - fth3E (CW-06) 1,075 1,150 1.0
2,275 1, 150 1.0
1, 065 1, 150 1.0
2,711 1, 150 1.0
3,216 1, 150 2.0
691 1, 150 1.0
2,006 1, 350 2.0
688 1, 350 1.0
1, 065 1, 350 1.0
1,311 1, 350 1.0




1, 065 1, 350 1.0
2,520 1, 350 1.0
2, 685 1, 350 7.0
1, 065 1, 350 7.0
FEha a7 4 K (=F_, 2= =/ 25)
IF 2% (CW-02) 1,416 2, 850 5.0
1, 200 2, 850 1.0
2F = 1 - W AEEAE - == (CW-03) 1, 065 1, 350 1.0
2,897 1, 350 2.0
641 1, 350 1.0
755 1, 350 1.0
2,293 1, 350 3.0
1, 065 1, 350 1.0
FEREE 1(CW-05) 865 1, 350 1.0
2, 360 1, 350 3.0
1, 065 1, 350 1.0
3F  GEFRE 2 - ME LB Y = - = (CW-04) 1, 065 1, 350 1.0
2,897 1, 350 2.0
1, 065 1, 350 3.0
2,293 1, 350 3.0
FERE 2 (CW-06) 865 1, 350 1.0
2, 360 1, 350 3.0
1, 065 1, 350 1.0
H—FL— e h—F (I—F o Lb—)b: h—V— Z=a—FFv 7 H—F2:1
Uhs 7=x7)
oF ¥THAHAR—ZC 5, 332 2, 700 1.0
4,188 2, 700 1.0
5,126 2, 700 1.0




